Fi3 BHRESBZ e X GECERK LY @EEE~-R)

(EHEE)
Z 18 p.3 = = E 3 b2l % R Z i
& L
# B | o 7 A
L S s ?) 7
% 3 hit ~
¥ 0 ~ . b A
= - £ i it
- HH
= Bk ;’; F B N ROKS
« ~ Y ¥ e | 0B
A 8 B
%4 = s % . % 8
‘ ® 7 8 %
by % . a
& » A ~ % B & 1 fit pos
A % % % % %o % % %o %o % % %o
&% & 348 60.4 17.6 13.9 4.9 4.9 3.2 2.8 0.6 0.3 5.2 6.9: 120.5
(% & 8/ #])

XEBH (IED 78 64.1 15.4 15.4 2.8 5.1 1.3 1. - - 7.7 5.10 117.8
R BE 21 61.9 9.5 14.3 - 4.8 - 4.8 - - 9.5 4.8 109.5
HetsZE8Hib 57 64.9 17.5 15.8 3.5 5.3 1.8 - - - 7.0 5.30 121.1

K - 2] 157 61.1  19.1 14.0 4.5 5.1 3.2 3.2 1.3 0.6 4.5 5.7, 122.3

%K - 1zl 73 54.8 19.2 13.7 6.8 5.5 4.1 .1 - - 2.7 9.8 120.5

By 11 38 60.5 13.2 10.5 7.9 2.8 5.3 - - - 7.9  10.5 118.4

C % ]
L) 147 81.2  21.1 12.2 4.1 4.8 6.1 1.4 - - 6.8 5.4] 123.1
i 199 59.8 15.1 15.1 5.5 5.0 1.0 3.5 1.0 0.5 4.0 8.0i 118.8
(& i
20 = % 45 60.0 28.9 17.8 2.2 2.2 4.4 4.4 - - 4.4 4.4 128.9
30 = 1 89 57.3 21.3  22.5 6.7 9.0 7.9 2.2 1.1 - 4.5 4.5 137.1
40 % 1 85 61.5 18.5 13.8 4.8 4.8 1.5 3.1 - - 4.8 6.2 118.5
50 B 1 69 60.9 11.8 13.0 7.2 2.9 1.4 2.9 - - 5.8 7.2 113.0
60 B 1} 44 63.6 11.4 - 2.3 4.5 - 2.3 - 2.3 4.5 13.8. 104.5
70 & G 34 61.8 11.8 5.9 2.9 2.9 - - 2.9 - 8.8 8.8; 105.9
% £ B
( ®
20 B 1 28 57.1  32.1 17.9 3.8 3.8 7.1 7.1 - - 3.8 3.6 135.7
30 ¥ 13 28 53.6 28.8 21.4 7.1 10.7 17.9 - - - 10.7 -1 150.0
40 ¥ £ 30 63.3 23.3 10.0 3.3 6.7 3.3 - - - 3.3 3.3 1186.7
50 ¥ 1} 27 48.1 22.2 14.8 7.4 3.7 3.7 - - - 11 7.4; 118.5
60 B 1 19 73.7 5.3 - - - - - - - 5.3 15.81 100.0
70 Bk 15 86.7 - - - - - - - - 6.7 6.7: 100.0
( "D
20 ¥ 1 17 64.7 23.5 17.8 - - - - - - 5.9 5.9 117.8
30 B 1} 61 59.0 18.0  23.0 6.6 8.2 3.3 3.3 1.8 - 1.8 6.6: 131.1
40 ¥ 13 35 60.0 14.3 17.1 5.7 2.9 - 5.7 - - 5.7 8.8 120.0
50 B 1 42 69.0 4.8 11.9 7.1 2.4 - 4.8 - - 2.4 7.1 109.5
60 ¥ £ 25 56.0 16.0 - 4.0 8.0 - 4.0 - 4.0 4.0 12.0; 108.0
70 o E 19 | 42.1  21.1 10.5 5.3 5.3 - - 5.3 - 10.5 10.5 110.5
[ g *)
B # 114 57.9 22.8 17.5 5.3 3.5 6.1 0.9 - - 3.5 5.30 122.8
N b = 7NN A b 63 69.8 17.5 14.3 4.8 3.2 1.8 - - - 4.8 1.6, 117.5
=] ) E 3 44 59.1 18.2 4.5 2.3 .8 2.3 2.3 - - 9.1 6.8; 111.4
=] } k3 10 90.0 - - - - - - - - - 10.0; 100.0
FEER - ERX 52 50.0 13.5 15.4 9.8 9.8 1.9 7.7 1.9 1.9 - 15.4 128.9
i L5 43 67.4 11.8 11.8 2.3 4.7 2.3 4.7 2.3 - 11.86 4.7 123.3
* 2 7 57.1 28.6 14.3 14.3 - - 14.3 - - - -1 128.8
% @ fit 5 40.0 20.0 20.0 - 20.0 - - - - 20,0 20.00 140.0
i & & 8 37.5 12.5  25.0 - - - - - - 12.5 25.00 112.5
BE B & (&) 177 62.1 20.9 16.4 5.1 .4 4.5 0.8 - - 4.0 4.00 120.9
HEX- - BHEFEGH 54 64.8 14.8 3.7 1.9 .6 1.9 1.9 - - 7.4 7.4; 109.3
B ow ( & 102 57.8 13.7 13.7 £.9 .9 2.0 6.9 2.0 1.0 4.9 9.8 125.5




